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Suppose a power supply has
an emf of 60 Volt and an

internal resistance of 20 Ohm.
The maximum power (in
Watt) that can be dissipated
INn a series resistance
connected with it is:
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Question 8 Suppose o power supply has an emf of 20 Volt and an internal resistance of 10 Ohm. The maximum power (in
Not yet w::]tt) that can be dissipated in a series resistance connected with it is:
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In the Power Transfer experiment, which of the following is true during the experiment?
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a. The power dissipated by the load resistance is always greater than the power dissipated by the source.

b. We keep the potential difference across the load resistance constant.
c. The power dissipated by the source is constant.
d. The current is constant.

e. We vary the load resistance but keep the emf of the power supply constant.
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